W09 NOYSOBYM} MMM

Model HCQ2

HCQ2A/HCDQ2A s 887l 5k

The occasion of the non rod side
with a convex table

O 984/ Thread

FRIR AT

AR OEGHE(mm)

The occasion of the non rod side with a convex table

H
H
BThY,

FWIMRARIB S

The occasion of the screw thread

4B
Jr Sixcomers o the edge

(&

[N A G x
L u
o1 R
M6x1.0 10 32 2 23.5° 000 32 |22 205 8 (28.5 M14x1.5 23.5
40 | m6x1.0 10 40 2 23.5% 00s 40 |22 |20.5| 8 |28.5] M14x1.5 [23.5
50 | M8x1.25 14 50 2 28.5° oo 50 |27 | 26| 11 |33.5] M18x1.5 |28.5

EOFEBORRTRAS, (EUUKRN-XCIE)
Note 1) The rod-side with the boss i optional
specifications. (Not the end of the mode plus -XC36)

HCQ2B/HCDQ2BA % (i fLA)

wemm
Vpeonis
maERR R qQ ¥
itsiada ot e E
ncnr
ot v,
= ) )
B A S
ax@N &1, Through hole
AN Counterbors
L brrT
At

B4z (Unit) :mm

10~50 | 44 | 36

63 54 | 46 | 15| 20 | 77 [10.5| M10x1.5 | 17 | 7 | 8 | 60 | 9 | 14®10.5 1/4| 15| 84 | 19
75,100 | 54 | 46
5-50 |53.543.5

80 5/53.5| 21 | 25 | 98 |12.5| M16x2.0 | 22 | 6 | 10 | 77 | 11 (17.5%13.5 3/8 | 16 | 104 | 25
75,100 |63.5)53.5
10~50 | 65 | 53

100 75 | 63 | 27 | 30 |117| 13 | M20x2.5 | 27 | 6.5 | 12 | 94 | 11 [17.5/R13.5 3/8 | 23 |123.5 25
75,100 | 75 | 63

#2) WEMRMIMERTRERER,

Note 2) with the cushion on the table with the same dimensions.

HCQ2A / HCDQ2AM i 48 FL3X
The occasion of the non rod side
with a convex table

SEAFRIEE D E A A (mm)

The occasion of the non rod side with a convex table

N RE

The occasion of the screw thread

amE

O #84/Thread
R R
A 1l 4
[ ik
N = - J‘
i 8/Bore| 148/Bore| -
(mm) @i & (mm) = i
63 | M10x1.5 18 63 2 35° 01 63 |27 | 26 | 11 |33.5) M18x1.5 |28.5
80 | M12x1.75 22 80 2 43° 00 80 | 32 [32.5| 13 [43.5| M22x1.5 [35.5
100 | M12x1.75 22 100 2 59° o0a 100 41 |32.5/ 16 43.5) M26x1.5 |35.5]
R ————

P 133

B 5 2 51)

#ffﬁ ﬁ*:l' Specification

SAESEATRESHZEAMRMCIHR RELELERENT
& ZEWRBMBEAEB, FETETESER GRS NAE, B LSRET

BEFBRKE Y

O EERGER B AT, MR R, BREEAR, URMATRS, WOIGETIHE.

SSTRME R A R RE, MBS TEE, REXE, EASGR
S EiRFRHMRER, BOKTFRREZLME.

Introduction of product

#The product is ideal for mass production on a special purpose machine and jig in
machining center. It will greatly upgrade production efficiency.

®When the hydraulic cylinder actuate, and the piston moves downward, the clamping
arm will swing to a rated angle. Then it lowers until the workpiece is clamped securely.

70 avoid too fast motion, a flow control valve is suggested to connect to the hydraulic
swing clamp eylinder. Do not clamp workpiece while the clamp is swinging to avoid
damaging the cylinder barrel and internal parts.

#The cylinder body is manufactured from structural carbon steel... Inside surface is
specially treated for maximum smoothness and long service life

®When increasing length of clamping arm is required, be sure not to exceed 1.5 times of

the original length.

# &1 P 48 Bore of cylinder (mm) @25 ©32 @40 50 63 é
&IEAFE Bore of piston (mm) 18 20 0224 028 355 2
¥ %1772 Swing stroke(mm) 1.5 14.5 14.5 16 16 °oj’
EE {7 EmemeClamping stroke ( mm ) std/incr 13 15/30 15/30 17/34 17/34 %
F @B s Pressure area pull/push ( cm?) 2.37/4.91 4.9/8.04 8.63/12.57 | 13.47/19.63 | 21.28/31.17 5
%45 Theoretical clamping (30kg/em?) 71 147 259 404 647 3

{E FA 7 B Fluid

Bl Z R Filtered oil

8 k7 B iMax pressure (kg/cm?)

100kg/em*

£ I A $EBRange of pressure (kg/cm?)

10—70kg/cm*®

#5771 Rotating direction

Z#LEAHR Tumn right L or turn left R

¥ % & Rotating angle

12 £/ Standard angle90° £ [EOptional angle 0° ,45° ,60°

{EB A Acting type

@B Double acting

H%Hﬁ_\‘ 'H& Ordering Code

DE, REX
BlanicLine ype

i [ T
i

TEETI




W09 NOYSOBYM} MMM

Model HSL Libz] #71)

BEBRREETE

Loo°

©,
—¢

&
4
\\\hs

BiRsABIRIEAX

L

T2

Clamping stroke _ Swing Stroke

TEiTE

% =
(0] X
B R EIRIER

Vant

| JEEH

Double side swing clamp

@

L\ N

Ty : I :
Et ;1 e Gl
®'m € <
- al < =
z o o|
[
o | ®Yu ‘ ol | o
[Nt
. EE RS R0 R HAMKE
MR S # Dimension table Bfiz(Unit) :mm
ITEM MODEL HSL-25 HSL-32 HSL-40 HS| HSL-63
ST:Swing/Clamping | 24.5:11.5/13  |29.5:14.5/15/44.5:14.5/30/29.5:14.5/15/44.5:14.5/30| 33:16/17 | 50:16/34 | 33:16/17 | 50:16/34
A1 104 118 148 123 153 137 171 142 176
A2 (127) (144) | (175) (150) | (180) | (167) | (201) (177) | (211)
A3 123 140 170 145 175 162 196 174 208
B 76 85 100 90 105 100 117 105 122
c 27 30 30 34 34
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 019 022 C22 025 032
Et M10 M10 M10 M12 M16
E2 8 o8 10 12 o015
E3 M14x1.5 M16x1.5 Mi8x1.5 M20x1.5 M24 x 2
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
ol 46 50 54 66 80
J 52 56 63 72 88
K 40 44 48 57 70
L 6.8 6.8 °9 9 11
M PT1/8 PT1/8 PT1/8 PT1/4 PT1/4
N1 8 10 12 15 17
N2 17 19 19 215 22
N3 46 52 67 57 72 63.5 80.5 68 | 85

136

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Double side swing clamp

Double side swing clamp

R/ @[@T\*
- {— &1+~
L =17
\ OBV
: . ‘ =
s
§ J FCV Min.5
G2
) ,
i i g
g 2
Ring
i EEREA0° R E
YME R ) % Dimension table S84 (Unit) smm
ITEM MODEL HSL-MF25 HSL-MF32 HSL-MF40 HSL-MF50 HSL-MF63
ST:Swing/Clamping 24.511.513  |205:145/15 44.5:14.5/30 29.5:14.5/15/44.5:14.5/30| 33:16/17 | 50:16/34 | 33:16/17 | 50:16/34
A1 104 118 148 123 153 137 171 142 176
A2 (127) (144) | (175) | (150) | (180) (167) | (201) | (77) | (@11)
A3 123 140 170 145 175 162 196 174 208
B 76 85 100 90 105 100 117 105 122
c 22 25 25 30 30
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 19 122 22 25 32
E1 M10 M10 M10 M12 M16
E2 o8 8 10 12 ®15
E3 M14x1.5 M16x1.5 M18x1.5 M20x1.5 M24 x2
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
ol 46 50 54 66 80
J 55 57 63 72 88
K 42 44 48 57 70
L 6.8 6.8 9 9 11
M 19 21 23 28 32
0O-Ring P7 P7 P9 P9 P9

72\
@ [a® @ a9
o R
) EEER == 4}
. ol . ‘ g 4
L © 70 . Q)
RS R
J J
G2
L o
E2 3
2
I ;
l o
Hediih 7L il
V| Clamping port
5 AL i
Unclamping port !
O-ftng i EEREA0°REMKE
9"%}{7‘"% Dimension table B4 (Unit) :mm
ITEM MODEL HSL-M25 HSL-M32 HSL-M40 HSL-M50 HSL-M63
ST:Swing/Clamping 24.5:11.5/13 29.5:14.5/15 29.5:14.5/15 33:16/17 33:16/17
Al 104 118 123 137 142
A2 (127) (144) (150) (167) 177
A3 123 140 145 162 (174)
B 76 85 90 100 105
ci 16 18 18 20 23
c2 27 31 31 37 48
D o1 022 022 025 032
E1 Mi0 M10 M10 M12 M16
E2 8 8 @10 12 15
E3 M14x1.5 M16x1.5 M18x1.5 M20x1.5 M24x1.5
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
J 55 57 69 75 9%
K 42 44 52 58 75
L ©6.8-010.5x6.5D.| ©6.8-010.5x6.5D | ©9-014x9D ©9-014x9D ©11- ®17x 11D
M 18 22 26 32 38
N 20 22 26 30 38
0O-Ring P7 P7 P8 P8 P9

| JEEY]

138

W02 NOYSORYMI MMM




&I‘% RTJ‘ ﬁ Dimension table

E: EERE A0 FHEAME

W09 NOYSOBYM} MMM

B4 (Unit) :mm
memOoE Het-Tese HoL_Tss HSL-TB40 HSL-TB50 HSL-FAG3
ST:Swing/Claming | 24.5:11.5/13 29.5:14.5/15 29.5:14.5/15 33:16/17 33:16/17

Al 104 118 123 137 142
A2 (127) (144) (150) (167) (177)
A3 123 140 145 162 174
B 76 85 90 100 105
ci 22 25 25 30 30
c2 B 12 15 15 -
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 019 22 022 025 032
E1 M10 M10 M10 Mi2 M16
E2 o8 o8 010 012 015
E3 M14x1.5 M16x1.5 M18x1.5 M20x1.5 M24x2
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H B 10 10 12 15
o 045 @50 058 o068 081
12 M45x1.5 M50x 1.5 M55x 1.5 MB5x 1.5 -
J 53 57 69 75 90
K 40 4 52 58 70
L ©6.8-0105x6.5D.| 06.8-0105x6.5D | ©9-014x9D ©9-014x9D 011-017x11D
M1 PT1/4 PT1/4 PT1/4 PT1/4 PT1/4
M2 PT1/8 PT1/8 PT1/8 PT1/8 -
N 28 32 40 50 63
T1x2PCS 10 1 1 12 -
T2 065 @70 070 285 -

p3ea
A)|Elamping port

B

un

Double side swing clamp
N

53 L

A3

P 139

®) | S i ing pon
1 ol
5 o o 3
MBS A Dimension taple  E: EHARAI0ERIRKE Wt
ITEM MODEL HSL-FAM25 HSL-FAM40 AM50 HSL-FAM63
ST:Swing/Clamping 24.5:11.5/13 29.5:14.5/15 33:16/17 33:16/17
A1 104 123 137 142
A2 (127) (150) (167) (177)
A3 123 145 162 174
B 76 90 100 105
c 22 25 25 30 30
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 019 22 122 25 132
E1 M10x1.5 M10x1.5 M10x1.5 M12 M16
E2 8 8 10 12 15
E3 M14x1.5 M16x1.5 M18x1.5 M20x 1.5 M24x2.0
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
ol 45 50 058 68 81
J 55 57 69 75 90
J2 64 65.5 79 87 104.5
K 42 44 52 58 70
L ©6.8-010.5x6.5D. | ©6.8-010.5x6.5D.| ©9-014x9D. ©9-014x9D. ©11-017x11D.
M 20 22 26 30 32
N 28 29 34.5 39 46
0-Ring P6 P6 P9 P9 P9
140

W02 NOYSORYMI MMM




Model| HSL

#71)

Single side swing clamp

Double side swing clamp

) &g por

7L
amping Port

E: EERE A0 EEMRE

AP JE R S| # Dimension table

MODEL

EE {2 (Unit) :mm

: (A% o
f m Unrlam%mg Port
2
§ 9",]32’{7]‘ j:{ Dimension table £ EERMA0HMIRA B4 (Unit) :mm
% ITEM MODEL | HsL-FAMT25 HSL-FAMT32 HSL-FAMT40 HSL-FAMT50 HSL-FAMT63
g ST:Swing/Clamping 24.5:11.5/13 29.5:14.5/15 29.5:14.5/15 33:16/17 33:16/17
S A1 104 118 123 137 142

A2 (127) (144) (150) (167) (177)

A3 123 140 145 162 174

B 76 85 90 100 105

c 22 25 25 30 30

D1 16 18 18 20 23

D2 27 31 31 37 48

D3 019 22 22 25 32

E1 M10x1.5 M10x1.5 M10x1.5 M12 M16

E2 o8 8 10 012 15

E3 M14x1.5 M16x1.5 M18x1.5 M20x1.5 M24x2.0

F 10 10 10 12 15

G1 50 55 60 65 75

G2 140 160 160 180 200

H 9 10 10 12 15

ol 45 50 58 68 81

J1 55 57 69 75 90

J2 64 65.5 79 87 104.5

K 42 44 52 58 70

L ©6.8-010.5x6.5D. ©6.8-010.5x6.5D.] ©9-014x9D. ©9-014x9D. ®11-@17x11D.

M 20 22 26 30 32

N 28 29 345 39 46

0-Ring P6 P6 P6 P9 P9

ITEM SL-FCM25 SL-FCM32 HSL-FCM50
ST:swing/Clamping 24.5:11.5/13 29.5:14.5/15 29.5:14.5/15

A1 104 118 123 137
A2 (127) (144) (150) (167)
A3 123 140 145 162
B 76 85 90 100
c 22 25 25 30
D1 15 17 18 20 23
D2 27 31 31 37 48
D3 019 022 022 25 032
E1 M10x1.5 M10x1.5 M10x1.5 M12x1.75 M16x2.0
E2 ©8 @8 010 012 015
E3 M14x1.5 M16x1.5 M18x1.5 M20x1.5 M24x2
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
ol 45 50 58 68 81
J1 55 57 69 75 20
J2 64 65.5 79 87 104
K 42 a4 52 58 70
L ©6.8-010.5x6.5D. | 6.8-¢10.5x6.5D. | ¢ 9-¢ 14x9D. ©9-¢ 14x9D. ©11-¢17x11D.
M 20 22 26 30 32
N 28 29 34.5 39 a7

0O-Ring P& P& P9 P9 P9

P Min 7 4.5 4.5 4 4

P Max 9.9 7.8 7.8 7.3 7.3

p

142

W02 NOYSORYMI MMM




